
38th Petrozavodsk Programming Camp, Winter 2020
Day 7: Gennady Korotkevich Contest 5, Wednesday, February 5, 2020

Problem B. Bin
Input file: standard input

Output file: standard output

Time limit: 15 seconds
Memory limit: 512 mebibytes

Find the number of full binary trees (every vertex has 0 or 2 children) with n leaves such that for every vertex
with two children, the number of leaves in its left subtree doesn’t exceed the number of leaves in its right subtree
by more than k, and display it modulo 998 244 353.

Input

The only line contains two integers n and k (2 ≤ n ≤ 106; 0 ≤ k ≤ 100).

Output

Display the required number.

Examples

standard input standard output

2 0 1

3 0 1

3 1 2

4 0 2

4 1 3

4 2 5

6 2 23

7 42 132

10 1 400

13 4 42003

239 17 385818773

50216 58 744498776

787788 78 394429402
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